AP Physics Prep Name: Date:

Homework for Day 12, Session 1

Find the specific solution to each integral.

65
1. a) F(x)=[1200(6x+66)dx  F(-11)=5 b) | 6 1200(6x + 66)“dx
2. 2) 1(x)= [ - 6xe™ dx 1(0)=1 b) Jj_ 6xe™ dx
8x — 22 . 8x_22
. = - 0 b A
3. a) G(x) I2x2—11x—20dx G(7)=1 )'[12x2—11x—20 X
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5. [ -123(at* ~1f dt 6. [ - a 28t 7 dt
2 +
7.a) J._1118x2(3x3 +3)2dx b) H(x):J.18x2(3x3 +3)2dx H(0)=0

In all parts of problem 8, t is in radians.

8.a) V(t)= j—9cos(3t)dt v(0)=0 b) x(t)= | 153in(57ﬂt+27rjdt x(0.4)=0
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